KNOWLEDGE

Section 1: Organisation

Tissue A group of cells with a similar structure and function e.q. muscle tissue
Organ A group of tissues performing a specific function e.g. heart, leaf
Organ System A group of organs that perform a specific function e.g. digestive system.

Section 2: Human Digestive System

4 Order of movement of food /P~
through the digestive system:

Oral cavity

[Tongue — Esophagus

Mouth Many P

Oesophagus  Ordinary -

Stomach Students Liver

Small intestine Struggle stomach
Large intestine Learning and Gallbladder

Rectum Remembering

Anus Answers

Large Intestine | L Small Intesine

Appendix

Section 3: Enzymes Key Terms
E A biological catalyst that can speed up the rate of reaction without being used
nzyme . .

itself. Made of a large protein molecule.
Substrate The chemical that fits into the active site of an enzyme.
Lock and Key Only one type of substrate can fit into the active site of an enzyme, like a key
Model fits into a lock.

When the active site of an enzyme changes shape and the substrate can no
Denatured .

longer fit in. Can be caused by pH or temperature.

Section 5b: Other Chemica
Hydrochloric Acid

Acid with pH of 2 produced by the stomach. Unravels proteins.

Emulsifies fats (turns them into droplets to give a greater surface area).
Bile It is alkaline so neutralises acid from the stomach. Produced in

liver, stored in gall bladder and is released into the small intestine.
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